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YEAR 2002 60 ¥/ fFm. 3R 65 T fEm. At = YEAR 2006
1. In an alloy there is 12% of copper. H 59 3R o oo <1 fF frsor W 68. 11, Vessels A and B contain mixtures
To get §9 kg of copper. How much 20 F/RR 44 W 10% F 9 T 8 of milk and water in the ratios 4:5
alloy will be required? (@) 3:2 ) 3:4 and 3:1 respectively. In what ratio
TR . : should quantities of mixture be
o fasm o 126 #1 69 . i {c) 3:5 (d) 4:5 taken from A and B to from a
= FH % fau Torart firsmarg =y 7. A barrel contains a mixture of wine mixture in which milk to water is
(a) 424 kg (b 575 kg and water in the ratio 3:1. How in the ratio 5:4 ?
5 much fraction of the mixutre must 4T A 2 T ? EELRECE (&
i) 828 kg () 1736= kg be drawn off and substituted by = Wiﬁﬂ E AR N -
3 water so that the ratio of wine and § g ﬁ'ff'?ﬁ frren = £
YEAR 2003 water in the resultant mixture in s LR
s A 4 the barrel becomes 1:1 ? al ;Fg " “‘ﬂ:? :ﬂg'
. mixture contains spirit and water ¢ . a} 2: ¥ :
in the ratio 3:2. If it contains 3 T s A i A F oA 3 #) © 52 ¥ (g)2:3
litres more spirit than water. the Toson | 4 oo s Fren s 3R s #4 . YEAR 2007
quantity of spirit in the mixture is # 9 e e A fagor § wf ol o e i
@ o | e ok st @ e 32 # 1 3IA 1:1 B 5124 i lr:‘ltl;ea“dr;?;e; g“ awnl:g;tulr;
IR S'H'ﬁ feafiz </ @ 3 Eﬁ?{‘ Wi e 4t 1 1 5 5 —y "@mres of water are added to it.The
s F ffee =t wen wa =0 @ = b3 = = x % ratio of milk and water in the new
{a) 10 litres {b) 12 litres 4 3 3 3 - \-1?';1& %, mixture becomes 7:8 The total
{c) & litres (d) 9 litres YEAR 2005 . % duantity of water in the new
. . . Fasooy s mixture is
T e o T 32 5. o 50 gm sloy of gold and Wver™ o e o e 7
(] , A ) . H
water to be added, to make the water :::;hgogl:l dlsshim ‘;3; :;;f:tt‘o Ifgg ST TE 15 Wi et faarn 9 LA | N
tent 20% i mixutre is : W 71
cor;i;.:{ 2 ﬁ: mﬁthe ne.ﬂiwqﬁ'] % :;; ;Iﬂ alloy so that the wmghx of gold fiesrmn & gy R w5 78 ¥
40 o ' would become 95%. ‘*—*“- #1790 g § o 7 FW HE F
A B A 10% # @ T fasw A o 5% 50 7m 3 fy ﬂuﬁrﬁk‘dﬁr?lﬁuﬂ (a) 35 litres (b} 40 litres
R 20% T B fore THY fra T foe o fc) 60 litres {d} 96 litres
S wH Wﬁi(’:’]:' ﬁﬂ‘“@ ﬁ;"’_"r'“ W 13, 200 litres of a mixture contains
. . oo = AR 95% T I 15% water and the rest is milk.
(@) 6 lltfes (b} 6‘5‘ litres 200 < (b 15 The amount of milk that must be
(c} 5.5 litres {d} 5 litres (a) gm - (b} 150 gm added so that the resulting mixutre
4. A mixture of 30 litres contain milk (€] 50 gm % {d) 10 gm contains 87.5% milk is
and water in the ratio of 7:3. How 9- ;.Tm*e age Bl litres pure milk in a 200 ohex & fason § 15% v & ik 9w 3y
much water should be added to it ' ryi,am%‘?‘ One-third of milk is 31 T framr  87.5% 70 TR @ oy s
so that the ratio of milk and water reflaced by water in the container. R kN
becomes 3:7? Aga§n one-third of mixture is ‘{‘ﬂ‘ﬁﬁm | .
T 30 T w fasw A gy ol v T extracted and equal amount of water (@) 30 litres (b} 35 litres

oy, d {c) 40 litres (d) 45 litres
ST 7:3 ¥ 3 AU S g7 T, 1o added. What s the ratio of millc |, 18 10 Tes () 45 litres 25

% o e ot firemn mlv jto water in the new mixture ? per litre.In what ratio should water

(@) 40 litres (b) 49 litres AT T H 81 W 4w 37 B wm-ferd be mixed with chemical the mixture
(c) 56 litres {d) 63 litr _ 34 &I U § freenfya fea s ) <tam gts f}s 20 litres he may get profit of
5. How much pure alcohol h be T-fee oo fawren s ¥ s # %
added to 400ml of, ams: N S ﬁmﬁs:maﬁ? UF Sl ® 9 25 w9 Wi wier amm
R kS A R1 Fe oa ¥ T W e O

the concentration of WAl 1 3TYa F 52 fiern s Afw fasor F 20 =@ 9 s
400 f. o). =+ 3 i 10. In 80 litres mixture of milk and (@) 14:9 b 16:9
s & ' water the ratic of amount of milk to {c) 9:14 (d) 9:16
Tod that of amount of _water is 7:3.In 5, 7kg of tea costing Rs.280 per kg is
@ 60 ml- . b) 100m] order to make this ratio 2:1 how mixed with 9kg of tea costing
(o) 128 ml;:"‘- % d) 68 mI many litres of water should be Rs.240 per kg. The average price
¥ m added? per kg of the mixed tea is
YEAR 2004 80 T B famor § gy sk Tt 2 WO 280 & Wfy fFm. 1 7 e, W W 240
6. In what ratio must a grocer mix tea w1 I 7:3 4 24 T % fg w4 5 FEm. ¥t o frm = & e freen
at Rs.60 a kg , and Rs.65 a kg, so ) : R e @1t e s e i fem,
that by selling the mixture at Rs. T foRa e firema s (a) Rs. 255.80 (b Rs. 257.50
68.20 a kg, he may gain 10%. @3 (6 (8 (d4 c) Rs. 267.20 (d) Rs. 267.50
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YEAR 2008

In what ratio must a mixture of
30% alcohol strength be mixed
with that of 50% alcohol strength
50 as to get a mixture of 45%
alcohol strength

304 TEpITe WA At A0 1 $0% TR
T fasm § e s F o Wg
T 7 fason 459 TewEa #h
fa) 1:2 (b) 1:3 (¢} 2:1 (d} 3:1

17. In a 729 litres mixture of milk and
water, the ratio of milk to water is
7:2. To get a new mixture
containing milk and water in the

ratio 7:3, the amount of water to
be added is

729 HR T faar § gy ko oW
9@ 7:2 31 T e 9 fremn sy
A = fasor & g9 ol w1 ST 73
& Ty
{a) 81 litres (b} 7ilitres
{c) 56 litres {d) 50litres

18. In a 40 litres mixture of milk and
water the ratio of milk to water is
7:1. In order to make the ratio of
milk and water 3:1, the quantity

of water (in litres] that should be
added to the mixture will be

40 ditet & fasm § 79 &R aF F AR
7:1 31 55 fapam T (St #) faemn
A W g & 34 o IR AT 31
7 =

16.

2 L 3

6= 6= 6—

@ 65 (B 65 ()99 (@ 63
19. In an alloy, zinc and copper are in
the ratio 1:2. In the second alloy,
the same elements are in the ratic
2:3 . If these two alloys be mixed

to form a new alloy in which twe
the

elements are the ratio 5:8 ,
ratio of these two alloys in the
alloys is

w firsmg o, foid R R o &
#1 T Ty o T S HIR T 5

23 %lwﬁﬁﬁﬁfﬁ:mﬁm’fﬁm L s

2t e fasarg F % o widg), 77T
:saméﬁwmﬁ\, Ll
fasmged =1 éﬂjﬂtﬁ@ﬂgl W
{a) 3:10 %g}

{c) 10:3

20. A jar cont mixture of two
liquids A & the ratio 4:1
When. the mixture was
taken o 0 litres of liquid B

was pouréd thio the jar. This ratio
became 2:¥ The quantity of liquid
A contained in the jar initially was
s W A T A MR 3= BF fhwm =
ATIE 4:1 #1 9" 10 AR F fgm R}
et 3R 10 H 79 B o s # @
M § 59 A 3 T B W A9 2:3 7 W
B 9T F v\ A T A Fw

(a) 4 litres (b 8 litres

ic) 16 litres {d} 40 titres

21.

22,

23.

25.

In a mixture of 75 litres, the ratio
of milk to water is 2:1. The amount
of water to be further added to the
mixture so as to make the ratio of
the milk to water 1:2 will be

75 et et Mo o 39 oit W W s
2:1 %1 fasm § fpen s wret freren s
E 39 i 9r F1 SR 12 3 S

(a) 45 litres (b} 60 litres

(e} 75 litres (d) 40 litres

A and B are two alloys of gold and
copper prepared by mixing metals
in the ratio 5:3 and 5:11
respectively. Equal quantities of
these alloys are melted to form a
third alloy C. The ratio of gold and
copper in the alloy C is

T ot FR FF 3 g A @ B w5
53 3R 5:11 B W ¥ fIem & = @
#1 el faserg ¢ F T B fa w1 A,

frsrget Bt e wen § frearan s 4

fagug ¢ ¥ ¥R 3R FIW | o3I T
(a) 25:13 [b}_33:15}€ '
ey 15:17 d) 17:157%
Two types of alloys pos®
and silver in the ratio of 7:2% a
21:37. In what ratio should tfese
alloys he mixed sos ig

alloy in which g
would exist in thes,rag

aﬁﬁkaﬁm"rﬁ

EBlaﬂTrla}'zz
ﬂ arqmﬁsﬂéﬁsmg

:ﬁgm AIE 25:62 A

(aJ 1& (b 8:13

¥ 2% (d} 6:9

allo contams zine, copper and
fkhe ratio 2: 3:1 and an other
htains copper, tin and lead in
¢ ratio 5:4:3. If equal weights of
both alloys are melted together to form

i a third alloy, then the weight of lead

per kg in the new alloy will be.

W fasng # T, ww i T W s
2:3:1 ¥ g5d sy ¥ W, fA siw 9@
T HIE 5:4:3 ¥ AR WA R el =
fasergsl # T e W 2 A T
w faorg Tt &) g faserg § oW
Wi forel ur wand)

1oL 3 7
@ ke b) gkeic) 17 ke @) gke
The ratio in which tea costing Rs.192
per kg is to he mixed with tea
costing Rs.150 per kg so that the
mixed tea,when sold for Rs.194.40
per kg. gives a profit of 20% is

192 & ia fem, sit 150 &1 wfa fem.
el 9 F 5w wquR ¥ foem S aie
fafsm @ # 194.40 ¥ wiq fFm
A | 20% B @9 BN

(@) 2:5 () 23:5

c) 5:3 {d) 5:2

26,

27.

28.

29.

30.
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The ratio of the quantities of sugar,
in which sugar costing Rs.20 per
kg. and Rs. 15 per kg. should be
mixed so that here will be neither
loss nor gain on selling the mixed
sugar at the rate of Rs.16 per kg.
is 20 ¥ 93 fem otk 15 = wfa

fFm. At <=t | g F faam
= o fafsm < 16 T vfa e

WA A A o w ol T owfsn
(ay 2:1 {n 2:1
jc) 4:1 {d}14

009

In or 11k and water are
mixed” r'at10 3:5 and in another
glass th gfe mixed in the ratio 6:1.

Ingyhat Atio should the content of

e two glasses be mived together so
;the new mixiure contains milk
d water in the ratio 1:1?

froma ® 39 3ir T i 355 & agEm ﬁ
AT W ® AR g e A 5 6t @
aqum o faemn wmar #1 g faso § 2.
et & 7@ it f59 sgum o fisemn sy
ARE g9 3R 9 T AT 101 @ W

{a) 20:7 (b) 8:3 {¢) 27:4 {d) 25:9

YEAR 2010

A mixture of 40 litres of milk and
water contains 10% of water. How
much water must be added to make
the water 20% in the new mixture?

2y S TR A 40 e g W 10%
21 7g fosmr § O 20% 39 & fou o

Fore Wt faetmn =
{a} 10 litres {b) 7 litres
c} 5 litres {d) 3 litres

A mixture contains wine and water
in the ratio 3:2 and ancther
mixture contains them in the ratio
4:5 . How many litres of the latter
must be mixed with 3 litres of the
former so that the resultant mixutre
may contain equal quantitites of
wine and water ?

uw figm § AR 3 ot e 32
T faromn O 0T ot O 1 oTTE 435 #)
oA i qEn faam e a9 3 A
foysor  firen e wiiw o fasm F 9i@
iR T # T ee

litre

2 2
1= 5=
{a) 3 litre (b} 5

3
3_ +
(d) 3 litre

A mixture of 80 litres of wine and
water contains 60 percent wine
how much water must be added to
make it 30 percent wine in the new
mixture?

wfe iR T A 80wt fasor § 60%
afgg 21 feem e firemar @ afs o
fasrer & RO 50% B

{a) 16 litres
[c} 1.6 litres

1
o) 45 litre

) 18 litres
{d) 20 litres




31.

32.

33.

34.

35,

36.

In a mixture of 60 litres . The ratio
of milk and water is 2:1. How
much rore water must be added to
make its ratio 1:2?

60 T T # qu s o = g 200
#) fra ofr sifafe et firarn e afe

A (2 B T
(a) 40 litres by 52 litres
{c) 54 litres {d) 60litres
In what ratio Darjeeling Tea
costing Rs.320 per kg be mixed with
Assam Tea costing Rs.250 per kg so
that there is a gain of 20% by selling
the mixture at Rs.324 per kg?
320 @ v fEm. wifem W@ @ 250
w2 wfd fEm. srem =@ few g o
Tremar s @ fofsm =@ A 324 =99 Wi
. W 3= W 20% 3 @ 2
fa) 1:2 by 2:3
e} 3:2 {d) 2:5
The ratio of milk and water in
mixtures of four containers are
5:3,2:1, 3:2 and 7:4 respectively.In
which container is the gquantity of
milk, relative to water, minimum?
=R #HA 3y i Ol = s wEe
53, 21,32 AR T4 BB A aF A gy
Ft e a B dag F w9 27
{a) First by Second
{c) Third {d) Fourth

YEAR 2011

The ratio of the volumes of water
and glycerine in 240cc of mixture
is 1:3. The quantity of water (in cc)
that should be added to the mixture
8o the volumes of water and
glycerine becomes 2:3 is

240cc & TRgw & it siie A = s
I 1:3 31 e Ot fiaern S wRE
A oo o ot 3R frremda @ sgm 20
T )

@ 55 {b) 60

(c) 62.5 (d) 64

The ratio of the quantities of acid

37.

38.

39.

40.

Two equal vessels are filled with the
mixtures of water and milk in the
mixtures of water and milk in the
ratio of 3:4 and 5:3 respetively, If
the mixtures are poured into a third
vessel, the ratio of water and milk
in the third vessel will be

ERCEECT R O R R R R
FIAWT Y WU T & AR T fason

At = § ST 9 € @ v faso § g
3t 4 H w74

fa) 15:12 (b} 53:59

c} 20:9 {d) $9:53

Two vessels A and B contains acid
and water in the ratio 4:3 and 5:3
respectively, Then the ratio in
which these mixtures to be mixed
to obtain a new mixture in vessel
C containing acid and water in the
ratio 3:2 is

Q) = A 3R B ¥ 3 s qr 1 e
43 3R 53 $1 A 2 fesod w1 ey s
foetry ww @if <67 ¢ F 3 oo &

I iR It 1 I 32 @
{a) 5:8 by 7:8
{c) 7:5 id) 4:7

Two containers have acid and wateg,

and 5:3.To get a new m

ratio of acid to water as 2: ,‘g‘h?“
two types have to be mixed in
ratio?

AT A e sl v M ik
3R 5:3 #1 77 frra ap) % eﬁmﬂ
ﬁmmmﬂqw s W
mea'jwmzlz’r

@ 1:2 %

¢} 2:3 °

Acid anl§, v ter are mixed in a

veasel A ifk the ratio of 5:2 and in
e”iles\ch in the ratio 8:5. In

proportlon should quantities
aken out from the two vessels
to form a mixture in which

be
s0

91\ the acid and water will be in the

and water in a mixture is 1: 3._;& E

5 litres of acid is further add
the mixture, the new ratio becomm

1:2. The quantity of new mlxtur&%

in litres is

o fasm H e aﬂuﬁtm&m@ b
ik 7 5 i s ; % @
= k) irzz‘lm%lwfq E’h:ﬁlaam
a) 32
c} 42

In a mixturefof w the ratio
of acid to w Another 3
litres al 1?”""added to the

nuxture of acid to water
in the neﬁ ture is

25 W AR AT § on ot wr 3
ST 4:1 B T 3 Sl wr s frern
e & @ T fower N sme o wE =

AW FqTT
(a) 5:2 b} 2:5
{c) 3:5 {d} 5:3

41.

ratio of ¢:47

T A H e S U W s s &
FA BH 71 3 T W orgEE 85 4 3

T F R wgem o s freren me @ts

T farge & ap AR 9 w1 A9E 94 B

fa) 7:2 by 2:7

e} 7:4 d) 2:3

The acid and water in two vessels

A and B are in the ratio 4:3 and

2:3. In what ratio should the

liquids in both the vessels he

mixed to obtain a new mixture in

vessel C containing half acid and

half water?

R i A dR BY o sl it @1 s
413 3R 23 1 N w2 W few

R | frem a afs s cd W T

Fasror F s s iR anr o @y

@ 7:5 k) 5:7

(c) 7:3 (d) 5:3

42,

43,

45,

46.
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The ratio of spirit and water in
twe mixtures of 20 liters and 36
litres is 3:7 and 7:5 respectively.
Both the mixtures are mixed

together, Now the ratio of the
spirit and water in the new
mixture is

20 dtex ST 36 o 2 T fasoi o
ferfe it ot =1 sqwiE 307 At 7:s
) < faet = ww we faen o
e # | Tu frsm ¥ fefe st wr
FI TR TS

() 25:29 (b) 9:10 (c} 27:29 (d) 27:31
Two vessels A and B contain acid
and water m1xe4;1 in the raito 2:3
and 4:3. I t ratio must these
mixtures, b d to form a new
mlxtuné é‘oﬁ g half acid and
half
T wH A aﬁ: ﬁ T 3 W ST
2:3 @R 4:3%7 T fasn @ & R 3
1 58 s § faem st At
o1 3 e I sk s v €
5:7 (b) 1:2 (e} 2:1 {d) 7:5

g & 5 : : :

. ‘&#cohol and water in two vessels
i CA

.

mixed respectively in the ratw .’il %

and B are in the ratio 5:3 and
5:4 respectively. In what raito, the
liguids in both the vessels he
mixed to obtain a new mixture in
vessel C in the ratio 7:37?

A = A ot BY e sl wrl
JTW 5:3 AR 5:4 ) A A D 7@ A *ew
¥ A e 9 afs s e ¥ | T
fasm & werrea oiit a1 smE 705 2
(a) 2:3 ib) 3:2

{c) 3:5 (d} 2:5

YEAR 2012

A vessel is filled with liquid ,3 parts
of which are water and 5 parts are
syrup. How much of the mixture
must be drawn off and replaced

with water so that the mixture may
be half water and half syrup?

TUF A TE ¥ W gen 2 fred 3 wm ae
3 5 a1 fary & e fago awe BT
e AR I 6 T e W ailn e
o smer W s s fang )

1
@ 3 (b)

BN ] TR N

1

) 5 (d
Two vessels A and B contain milk
and water mixed in the ratio 4:3
and 2:3. The ratio in which these
mixtures be mixed to form a new
mixture containing half milk and
half water is

A aH A R BH 39 sik T W arqum
43 3R 2.3 31 S = F frm g
e s @i g faso & s g9 ek
ST 9
{a} 7:5
fo) 5:6

(b) 6:5
d) 4:3




47. A container contains 60 kg of milk.
From this container 6kg of milk
was taken out and replaced by
water. This process was repeated
further two times. The amount of
milk left in the container is

T o F 60 fFm. g9 & w9 @ 6 fem.
T4 ARt frren W € 3 3 & s
et ¥ 7 AR TR & W Sl w
HEGE R ESE vk CE R )

fa) 34.24 kg (b) 39.64 kg
{c) 43.74 kg (d) 47.9 kg

48. Two vessels A and B contain milk
and water mixed in the ratio 8:5
and 3:2 respectively. The ratio in
which these two mixtures he
mixed to get a new mixture

3
containing 695% milk is

o W A 3R B # 34 it TR = wwn
8:5 3 52 % st W fiar wmr #12A
fosmil it feg s o foemn s AfE s

ﬁ:mfriuaﬂumﬁ‘? =% @A

@ 35 (b) 5:2 (c} 5:7 (d) 2:7

49. In two types of stainless steel ,
the ratio of chromium and steel
are 2:11 and 5:21 respectively. In
what proportion should the two
types be mixed so that the ratio of
chromium to steel in the mixed
type becomes 7:327

T WHR F IHEE Tae $ =049 W FiEn
R g F T 2:11 3R 521 1 G
TER 3 T B (H0 gma §
AfF T TFR S | § BN IR G

732 BN
I A
{a) 2:3 4 vn%
{c) 1:2 .

gold and

50. A and B are two i
% and 7:11

copper in the z

ﬂﬁ:mmm’&hﬁ? B ¥ | 3l FR F:
3 72 3R 701 &1 9 w9 W
T fsragedt =t foreman s # @ ww
fasery ¢ welt # | faseng © F WF ol
FHH T I T L

{a} 6:5 k) 9:4

(c} 12:7 {d} 7:5

51.

52.

53.

55.

A can contains a mixture of two
liquids A and B in the ratio 7:5.
When 9 litres of mixture are
drained off and the can is filled
with B, the ratio of A and B
becomes. 7:9. How many litres of
liquid A was centained by the can
initially?

o A 3@ A R 7@ B # fawor w1 oW
7:5 #1 5= 9w = fyoyw AR Prewew s

Al auam @ Ask BH
HUE 79 B WA 21 A T uww § xEA

fare =it 56.

(a) 10 (b} 20 (c) 21 (d) 35

Two vessels contain milk and
water in the ratio 3:2 and 7:3. Find
the ratio in which the contents of
the two vessels have to be mixed
to get a new mixture in which the,
ratioc of milk and water is 2:17

E’lﬂﬁﬁiﬂaﬁ'{mﬂWBQﬁ'{?:”é
élﬁamﬁﬁﬁfgﬁﬂﬁaﬁ ; 12%
At T frswr § g wR 9e w5 3
a = K‘ %

a) 2:1 b) 1:2

{c} 4:1 @J
A shokeeper boughts g of rice

at the rate of Rs f g and 25
kg of rice at t f Rs.20 per
kg.He sold t] mure of both

types of, rige ‘at the rate of Rs.27
?HfMproflt in this
e

{a) Rs. 125

(b} Rs.150
(d) Rs. 145

YEAR 2013

The proportion of acid and water
in three samples is 2:1, 3:2, and
5:3. A mixture containing equal
quantitites of all three samples is
made. The ratio of water and acid
in the mixture is

T B o SiR U I s 200, 32,
53 21 WA A S AFE Wl | o frem
TR I ¥ o ¥ o AR S @ sem
= I

(a) 120 : 133 by 227 : 133

(¢) 227 : 120  (d) 133 : 227
Two alloys are both made up of
copper and tin. The ratio of copper
and tin in the first alloy is 1:3 and

in the second alloy is 2:5, In what
ratio should the two alloys be

{c) Rs. 140

Wizard of Maths - Rakesh Yadav Sir

58.

mixed to obtain a new alloy in
which the ratio of tin and copper
be 8:37

7 faguge Fw it fA & wh # wet
faseng ¥ FR i f9 9 oga 13 § st
T H 2:5 ¥1 <A Pasigell = e e
¥ foemy wfe 7w faspeng o fom o s =
S 8:3 B

ta) 3:5

(€ 3:8 B

k) 4:7
(d) 5:11

A mlxﬁ&re scofitains alcohol and
watem th

o 4:3. If 5 litres of
led to the mixture, the
ratio be,conﬁs 4:5. The quantity of
algphol ii"the given mixture is

fhsm % TwrEe o T o 43
T § wtex wr fren fem € @
PYIT 4.5 99 S 1 St fg e fasm
o wemea w1 W el &7

(a} 3 litres b 4 litres

{c) 15 litres (d) 10 litres

15 litres of a mixture contains
alcohol and water in the ratio 1:4.
If 3 litres of water is mixed in it,
the percentage of alcohol in the
new mixture will be

15 #itex w@ faao o wesples St O W
I 14 ?) A% 3 3 = R fren
fe =t & @ o faaer § uewiea w0
i@ F@e

{@) 15 (b) 16%
() 17 td) 18%

Three vessels whose capacities are
in the ratio of 3:2:1 are completely
filled with milk mixed with water.
The ratio of milk and water in the
mixture of vessels are 5:2 ,4:1 and
4:1 respectively. Taking 1/3 of
first, 1/2 of second and 1/7 of
third mixtures, a new mixture kept
in a new vessel is prepared. The
percentage of water in the new
mixture is

o g ot gy d o w8 aifa 320 R
A A R R foem e s e g
o ot = oTm 52, 4:1 S 40 B W
A W13, TWH 12 R FW Y 17
fasm FFmER T 0 W 3 @ a6 2
T fasm ¥ Wt o afava Smei?

@ 32 b 28

(c) 30 (d) 24




59.

60.

61.

62,

63.

=]

The ratio in which two sugar
solutions of the concentrations 15%
and 40% are to be mixed to get a
solution of concentration 30% is
e 15% 3 40% I 2 SR B wedi
T 1 wa o T 9 B\ 30% e
e T )

@ 2:3 (b} 3:2 (c) 8:9 (d) 9:8
Nikita bought 30 kg of wheat at the
rate of Rs.9.50 per kg and 40 kg of
wheat at the rate of Rs.8.50 per kg
and mixed them. She sold the
mixture at the rate of Rs.8.90 per
kg. Her total profit or loss in the
transtaction was

R 3 30 foelt W 0.50 w1 v faem,
v 40 et A 8.50 T ¥ fem @
T S e @ ar 3w faao @ s90
T o fem @ AR & @ e @

RF | e a1 fee afr g
{a) Rs. 2 loss (b} Rs. 2 profit
{c) Rs. 7 loss (d) Rs. 7 profit

How many kg. of salt at 42 Paise
per kg must a man mix with 25 kg
of salt at 24 Paise per kg, so that
he may, on selling the mixture at
40 Paise per kg. gain 25% on the
outlay?

o frett T it 42 33 wfa famm =1 25
el T A 24 T vl fem, & e
framr =¥ 40 ¥R uf frm, = W 25% =

N
(a) 20 {b) 30
{c} 40 (@ 50

A mixture of a certain quantity of
milk with 16 litres of water is
worth 90 Paise per litre. If pure
milk be worth Rs.1.80 per litre.
How much milk is there in the
mixture?

wF foser ¥ o e o 2 qu w16

64.

65,

66.

300 kg of sugar solution has 40% gg,

sugar in it. How much sugar
should be added to make it 50% in
the solution?

300 fFm. ® dFf F we o 40% A d

et <t ol foren 2§t s afs 72 wim |
50% 9 AW

(a} 40 kg (b) S0 ke

{c) 60 kg (d) 80 kg

729 mi of a mixture contains milk
and water in the ratio 7 : 2. How
much more water is to be added to
get a new mixture containing milk
and water in the ratio 7 : 3?

729 fhefle B w& fas § gy stk o W
3T 7:2 ¥t T fohan wwt fivemn S R
T fagr & 77 sa 7:3 ° @ s

{a) 60 ml {b) 71 ml

{c) 52 ml (d] 81 ml

(SSC CGL 09-08-2015, Morning)

Three vessles whose capacities are
3:2:

of milk and water in the mixture of
vessels are 5: 2, 4 : 1 and 401

respectively. Taking 1/3 of ‘frs: %

1/2 of second and 1/7 of th

tures, a new mixtures, kept n
new vessel is prepared. The 15?1'-
centage of water mg‘t}ﬁ new mix-
ture is

?hqwm’faﬁwraﬂwqﬂs 2:1%
R 3 70 o T B AR g b

Wﬂwgﬁhnﬁiﬂmm 5:2,4
%
-1&!‘(43_‘1*1;3??;5@!‘113!15!‘@ — m

913 {Mﬁﬁﬁ w faster 2o Wt
qﬁ%ﬁ

M T et 1% B T

it et ¥ fre 90 40 s el e ﬂ@w% A 7 fagrn 5 9 < efem

o g 9 = T 180 T wf

B A fagm o 3 =} W wwe
(a) 40 litres {b} 16 litres
{c) 60 litres

() &o utm
Year 2014 My

A gold smith has tg %:ﬁhes of

gold, one of 12 ca ® another

of 16 carages In what

proportion sfpuly ‘mix both to

make aﬁg oré%—.c of 15 carats

purity? % ‘?)b

wwa’:ﬁu TER F B ¥ TF 12

Btz T ol B 16 B & A= TE
A R fem sgam § fre afs 98 15 e

&l = S 6
fa) 1:3 b) 2:3
fc) 3:2 (d) 3:1

- 4

67.

=
" la) 32 (b} 28
{c) 30 d) 24
[CPO 31-06-2018, Evening)

60 kg of an alloy A is mixed with
100 kg ofa.lloy B. If alloy A has lead
and tin in the ratio 3:2 and alloy B
has tin and copper in the ratio 1:4,
the amount of tin in the new alloy is
60 kg sty A F 100 kg oy B 2
wy s fem s 21 afx fasneg A &
< o R 3.2 % st 3 @ sl Py
BYfH sk df 148 srm d of, @
fagerg F faa =5t =m0 T
@ 44 kg ) 53 kg
{c) 80 kg (d) 24 kg

{CGL Mains 25-10-2015)

69,

1 are completely filled with "%’
milk mixed with water, The ratio ,-3?;;_

E R
L
e

i

70.

71.

Wizard of Maths - Rakesh Yadav Sir

Two blends of a commeodity costing
¥ 35 and T 40 per kg respectively
are mixed in the ratio 2 : 3 by
weight. If one-fifth of the mixture
is sold at ¥ 46 per kg and the
remaining at the rate ¥ 55 per kg,
the profit percent is

it 7 & ¥ T 35 iR T 40 wfa B
M TG A W Aol F T F SgER
2:3% 39 W fufsm fem o &) 9
1/5 Tagm ¢ 46 vfa frm. ok 9w € 55
i R #1 R R ww oIm @ o
wfam fea 22
@ 50 . "'"(b) 20
(€) 40 ™ % .(d) 30

T gt mnnmzs-m-aow}

Three glagseg of equal volume con-
tain, acid ¥nixed with water. The
rgyp iof acid and water are 2 : 3,

’%@ 24 and 4 : & respectively,
Contents of these glasses are

%gp?lrecl in a large vessel. The ratio
; of acid and water in the farge ves-
sel is

AR A9 o A e | ot @ 9y
a fafs 31 som @ O W sTom
FAM: 2:3,3:43R 45 W P
% e F T T w1 A e o a2

7 0 3R R T g = @
(a) 417 : 564 (b} 401 : 544
[c} 407 : 560 id) 411 : 540

|CGL Mains 25-10-2015)

Two types of tea costing T 180/kg
and ¥ 280/ kg. In what ratio should
these be mixed so that obtained
mixture sold at T 320/kg to earn a
profit fo 20% is

T 180/fFm ik T 280; FFm Wrm TTEl
T fm = 97 g orgam F feen & W
o s Iy rsRiaw
q W 20% F1 w9 AT F?
fa) 3:13 by 4: 13
(€ 1:13 @2:13

(CGL Mains 21-06-2015)

In 2 kg mixture of copper and
aluminium, 30% is copper. How
much aluminium powder should be
added to the mixture so that the
quantity of copper becomes 20%7

W ¥ vegifem # 2 fewm famw H

30% it &1 78 foam F frew wegfnfray

IS AR v e =fE fd A

IR 20% B W07

{a) 900 gms {b) 80O gms

{c) 1000 gms {d} 1200 gms
{88C LDC 01-11-2015, Morning)




72.

73.

74,

75.

The liquids X and Y are mixed in
the ratio of 3:2 and the mixture is
sold at T11 per litre at a profiti of
10%. If the liguid X costs I2 more
per litre than Y, the cost of X per
litre is {in¥Y:
T 59 X 3R ¥ 3:2 % sram # fafum
S # i o B 10% B T WL TR
wHew ¥ A e 21 9% 79X A v
o # T2 via et afir # 4 X 91 wrm
ufe wieR feerh (d) 32
{a) 9.50 (by 10.80
€} 11.75 d 11

(8SC LDC 06-12-2018, Morning)
A vessel contains 60 litre of milk.
12 litres of milk taken out from it
and replaced by water. Then again
from mixture, 12 litres are again
taken out and replaced by water.

The ratio of milk and water in the
resultant mixture is:

™ W H 60 wiet 39 31 39 ¥ 12 W
34 fmrerese Tt o1 R W 21 R S v
fagm & & 12 wier 9y et ol wo

fa ST @ oRomR A 3 9y ofk T W
ST T T

faj 16 : 9 (b 15 : 10

c) 16 : 10 idy9:5

{$8C LDC 06-12-2015, Evening)
Two vessels contain mixture of
petrol and kerosene in the ratio 4:3
and 3:5 respectively. The ratio of
the volumes of the quantities from
the two vessels to be mixed together
so that the new mixture may
contain same volume of petrol and
kerosene is:

2 T ¥ Wi SR IR = fase s
43dR3sH oqm A R S T |
&g o d < #t wen free 3R

76.

BESEIERAN

fa) 7:4
(c) 3:2

by 9:6
(d) 7:8
{88C LDC 20-12-2018; Mwenir
A can is full of a @i
liquids A and B in
5. When 9 litres |

drawn off from ”

placed by ghe s% uantity of

liquid B, thg f A and B in

the cay be 7 9. The ca-

pacity &
1. 9. ) 17. {a) 25. (a)
2. (d) 10. (d) 18. i{a) 26. (d)
3. (d) 11. (¢ 19. (a) 27. (@)
4. (a) 12. (b} 20. (c) 28. {c)
5. (b} 13. (e} 21. [c) 29, ()
6. (a) 14. {d) 22. (o) 30. (a)
7. 15. (b 23. (a) 31, (d)
8. (b 16. (b) 24, (b) 32. (d)

ANSWER KEY

TEFTY IR G AEAANRBR 7

5% oo o faso ¥ @ wh #1 Al

F1 9 9 forer e free faa s

AR TR WH W IF @ T ¥ wa

Bw iAW, s s7 K Asie B®

A 7 ;9T UM BT BT WA

ot 22

(a) 21 litres (b) 20 litres

(c} 10 litres {d) 36 litres
(8SC CPO 20-03-2016, Morning)

Three containers whose vol-
umes are in the ratioof 2 ;: 3 :
4 are full of mixture of spirit
and water. In the 1% container
the ratio of spirit and water is

: 1 in 27 container the ratio
is 11:4 and in the 3™ con-
tainer ratio is 7:3. All the

a big container. The ratio,

78.

*‘a% 3

vfa) 6500
three mixtures are mixed in %‘%} {c) 5500

HE ¥ @ I wEW SR A w®
fFa s o 1@ sur o

a2:1 (b} 1:2

{c)3:2 @3:1

{SSC CPO(Re) 05-06-2016, Morning)
12500 students appeared in
an exam. 50% of the boys and
70% of the girls cleared the ex-
amination. If the total percent
of students gnalifying is 60%,
how mmy%ls appeared in

theeria
H%Wqﬂmﬂm

gl:r.l 50% géaﬁ st 70% e 3
qﬁqr T = s el w e wm
1 yfrem 60% 2, & wien §

Fgiral wfnfem g2

(b) 6200

(d) 6250
{SSC CPO{Re) 06-06-2016, Evening)

spirit and water in the r@ﬁé:?{ 79. A sugar solution of 3 litre con-

ant mixture is: " s .

R FIR o smE 2 3‘#%
agmﬁ%f@rﬁz% aﬁﬁqamﬁ
T W TR W R
ﬂww4@§wmﬁ
SITI'IEIII %ﬂwmmﬂ

T fogu w1 ™
%Wﬁmm%mﬁuw

ﬁ:lsm SR uFht w1 STE Fm
) e (b)9:5
(cp11:4 (d) 5: 10

(SSC CPO 20-03-2016, Evening)

Lala has lent some money to
# Arun at 5% p.a. and Bhatia at
8% p.a. At the end of the year,
he has gained an overall in-
terest of 6%. In what ratio has
he lent the money to Arun
and Bhatia?

;WM A AEM F 5% R wiEn #
8% W T B MR W % W W
feu ad = @ H, 97 6% == A

80.

tain 60% sugar. One liter of
water is added to this
solution.Then the percentage
of sugar in the new solution is:

T W SR T R 3 e faso
60% =+ & IR T fuam 4 1 =
et iR faen e s A TR frsmr o
= =1 wiavm: saEe?

(a) 30 (b) 45

(c) 50 (d) 60

{S8C CPO(Re} 07-06-2016, Morning)
10 kg of wheat priced at Rs. 8
mixed with 15 kg of wheat
priced at Rs. 10. What is

average price of whole
mixture?

% 8 WA At 10 Fedim e 2
10 5@t 15 fFel 98 # Wi faam
w1 gl fhsm i slhwe wh
feart gi?

(@)29.5kg ()T 9.2 kg
(©)T7.5kg ()T 8.5 kg

(SSC CPO{Re) 07-06-2016, Eevening)

33. (o) 41. (@) 49. (g
34. (b 42, (o) 50. (d)
35. ) 43. (a 51. )
36. (a) 44. (a) 52. by
37. (d} 45. {c) 53. (d)
8. O 46. f(a) 54. {d)
39. (a) 7. (o) 55. (b)
40. (a) 48. (d) 56. {d}

57. {b} 65. {d) 73. (a)
58. {d) 66. {d) 74. (a)
59. {a} 67. (a) 75. (d}
60. (a) 68. {c} 76. (o)
61. (a) 69. (b} 77. (a)
62. (b) 70, (d) 78. (d)
63. (@ 71. (g) 79. (b
64. (o) 72. (b 80. (b
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A T o 2 T

e e P L e

Alternate:-

(b) According to the gquestion Note:- You can also solve this prob- 15% 100%
(IR, lem by ratic method
Atloy c%ntmns‘ 1%"% of copper e - 1T TH W H e fafy g 7@ Yoty final
(frznamg # 12% aian = w3 / \\Aloohol
.12 3 — Copper Alternate:- Change the percentage into 68 17
- = 25— Mixture (all ; Ja—
. (altay) . theratio (¥ 1 313w  woch) This mixture &4 1(— ‘This is the
3 kg of copper in 25 kg mixture  Initial mixture Final mixture is of 400 m} quantity of
(25 oo, fasmy & 3 fem, @ 2) 10% water 20% water multiply by100 |00 ._ pure t?‘m‘w]
1 kg of copper (i fFm atam ake it 400 N i ratio
25 _l£=_l_"Water ﬂz.l."Water maket
- kg mixture (faso1) 100 10 - Mixture 100 5 -» Mixture Alternate: )
69 kg of copper (69 FFm. Fimn) water | |1 1 w Total
75 milk 10-1 9 _ "\ 3 17 20
-?x69=25)<23=575kg water 1 1 'F‘ts%d‘(
= = S 8 17 25
Alloy (fRswI]) = 575 kg milk 5-1 4 RN N
{d) let the amount of water be x litre Now WZO units — 400 ml.
(v T TR S AT i ) _ 5‘@
: - Water Milk . % : 400
According to the question (FFTTHY), As Ty ] 1 unit -y ——
3 3 Initial Ratio 1., 9., é\} 4 a Rt 20
2.2 Final Ratic 1., : 4, % W
x 2
x=6 . Remember water is added :%{t 20 © 5= 100
.. Quantity of sprit in the mixture milk, so make milk eqt T % . Alcohol added in the mixture
(ﬁawﬁﬁ_uzaﬁm_n ﬁmwégﬁs‘h N H (Fasmt o swertew faEFm T = 100 ml
=x+3=6+3=9 litres o )
6. (a} According to the question
Splrit WT:er N 4 (regEn,
3 _ Y Initial Ratio %-; S.P of 1 kg mixture (1 f&m. fasm =
| B — | =
1 unit more Final Ra%lxﬂg fa®q I09) = Rs.68.2
1 unit = 3 litres 10
3 units = 9 litres &4,&3@1 40 Profit (79} = 10% = ;oo
(d) Water content in 40 litres of umts = 40 litres
mixture (40 =X firso F 9 = 1) 1_~* Profit
- 1 unit = 1 litre 16 —
. “ 4 5 units = 5 litres c.P
=40 x 100 = dlitres & ?&ﬂﬂl Milk Wat SP. =10+ 1 =11 units
. ater . .
. Milk in the mixture (famu § iﬂ% ! . . . . 11 units = 68.2
t F . Initial Ratio 7., 3.
'q'ﬁl'IJ =40 - 4 = 36 litres i f ] 68.0
Let x litres of water is mixed (W & ¥ Final Ratio 3. Ty 1 unit = _IT = 6.2
xR S e L, s, . Remember water is added not .
e milk, so make milk equal (&1 & fF 10 units = 62
drx 20 1 Yy . °d . Cost price of 1 kg mixture

40¢x 100 T 5 % %

x =5 litres . {-% b,
Alternate:- g o
10% 1% w&m
(In thj § when
water%' water is added
is 109} it 100% water)

>’0% —*final water %)

e U e

SOLUTION

e e R P

ot v 8w T o g9 R A
R FY

21 : 9 }4521+9-30

21 : 491 =21+49=70

30 units = 30 litres
1 unit = 1 litres

R o e G

B R A D B R A B e A A A A £

R

(1 fFm fagw = %9 759) = Rs. 62

60\ / 65
62

A At e G A o

40 units = 40 litres
80 10 ) ,
b) According to the quest
(This mixture€=8  :  1-3{This is the (b) € Question
mutiol by - |5 *51 ater e ( , (65~ 62)=3 : (62 - 60} = 2
mulaply water added _ - =3 : - -
S to make i ratin) Pure alcohol (3 FeHEA) = 100%
it 40) 40 5 litres By Alligation (frsm frm = gy, Required ratio (375 3T W)= 3 : 2

Wizard of Maths — Rakesh Yadav Sir




7. {b} According to the question (FFTHR),

Wine water Total
Initial Ratio 3 : 1 4
Final Ratio 1 : 1 2%2

3 :1
()
2 2

1 unit taken out and added {1 3F2
frerma | of e s/ & )

Hence Required part of quantity (H1:

uﬁlrﬂaq‘mm=%

Alternate:-
Let the Quantity of liquid drawn out
e for e PR TR 3 # W) = x

12 - 3x =4 -x + 4x
8 = bx
4

T3

Hence Required part of quantity (¥

8. (b) By alligation rule (fr#el Fem ® g,

¢ = Capacity of vessel (T3 1 &may

n = no. of process

2
SI[I—EZJ = 8][1—1]
81 3

=81 <222 - 36
- 3°3

.. Quantity of water (I F1 &)
81 - 36 = 45

Ratio of milk and water in final
mixture

(aiferm fasm 30 A TR W IS

36 4
Y45 " 5
~4:5

10. {d) According to the question (TFITHE,

Milk : water
initial Ratic 7= @ 3.
Final Ratio 2, 1.

. Remember water is added ‘ndt '_':':-

milk, s¢ make milk equal (¥ ﬁh‘
wﬁtfqamw%waz‘hm iuaﬁuﬁlaﬁ
TR *Y R

;.
14 : 64=20 unit 4 T
14 )1 o, "

1‘
20 unit —@0 htm:a
1 unit = & }nesm

Water added 4&4 litres

80% 100% 11. Qﬂoo mg ‘to the question
{In the initial {When pure o
mixture gold gold is added \% “Milk : water Total fcake
is 80%) 950, It is100%) MlxtureA 4, 15, =9 2 '8
3
nture B 5o ¢ Lo = 675
)i!
(100 - 95)=5 : {95-80) =15 ‘@ﬂal ‘mixture 5. @ 4. =9
5 : 15 [This is the 4
1 . 3 quantity of gold ¥ Again
added irg ratio) ; .
l,xSO lx 504 % L:lk : \ivgter
o Mixture A :
S0 gm (150 sﬂ_l-l b
% Mixture B 15 : 3
9.  (d) According tgithe qé&a%&[ﬂﬁﬁam Final mixture 10 : 8

Final Quamiq;, of milk 39 %t fm

9 = Initial quantity [1—11

c

x = Quantity taken out at a time (=
oo e Tl T A

=]

By alligation rule (milk)

{Milk in /
mixture k (Milk in

mixture B)
5 : 2

= 5:2

12. (b) According to the question

Milk : water
7 5

3 unit
7 . 8

', Remember water is added and not
milk, so make milk equal but here
milk is already equal (%M T & urt
fieran T ® g4 T 8 T FE A H
TR R, A TE M W I W D
3 units = 15 litres
1 unit = 5 litres
8 units = 40 litres
Total quantlty of water in the new
mudureﬁ'&ﬁmﬁﬁﬁ@ﬂﬁn

= 40 litrews:, ¥
13. (c) According fo the question

Initia}- mixtiire contains 15% water
(STREEEF T 15% TH o)

.-'Tl;,erefore milk content in the mix-
sture (3a: fagm F g4 St A

(100 - 15)% = 85% milk

"By Alligation ruale :

«

B85% 100%

Milk in -
itk mre}\ /( Pure milk)

87.5%
12.5 2.5

5 : 1
*4Q
200

x40
40 litres

Amount of milk added

(= T 34 T A = 40 litres
14.{d} Let the price of the water be Rs. O

(o T T 9 0 € Y

According to the gquestion

S.P of the mixture {850 %1 faa T73)

= Rs. 20

C.P of the mixture (F199 F1 F3 4&)
100 oo

= 20 x 125 ~ e

Now using Alligation method

Chemical Water

25\16/0
o

(16-0}= 16  (25-16}=
Ratio of water to chemical (e o o
H T
= 9:16

Wizard of Maths — Rakesh Yadav SirA



15. {b) According to the question 40 Alternate:-
A ice of mixed tea (MfsW =g 1 unit = = litre Let the initial quantity Liquid A and
verage price (Fiaf Y Bearonpa
m%w-w 40 (WA % AT B %1 3R 910 F49: 4x
16 4 units = 77 x 4 S 1)
60 60 4120 According to question
- 1960 +21 _ 2 40 20 2
16 16 =% =3 ° 6*3' litres 4x-8 _2
= Rs. 257.50 19 Accord N . x-2+10 3
. t
Alternate: (a) According to the question 12 - 24 = 2% + 16
Take difference = 40 divide it zinc : Copper 10x = 40
in ratio 7 : 9 Infirstalloy 1., : 2., = 65 x=4
BO\ 240 Second alloy 2. : 3, - %195 = Tnitial quantity (SIRFF W) = 4
.
/ Newalloy 5. : 8, =13"15 =4x4=16H
/ \ 21. e} According@ he gquestion
First alloy (92en fasurg 65 : 130  Mills %zgmer
4ong— 17.5 4ox—6- =925 Second alloy (380 fasemg 78 : 117 > 33 1
- 280 -x<=925 New alloy ‘ﬁm‘ﬁm@ 75 : 120 1& 2x,
X =280 - 22.5 = Rs. 257.50 Apply Alligation Renmmber water is added not milk.
16. (b} According to the question 65 78 {Marke milk equal (TR T8 Wt femar T
By Alligation: \ / ‘e‘%itr'—lg'i T: 9 F A H TR FY
(Alcohol in (Alcohol in 75 2 . == total 3 units
first mixture) second mixture ) 3 units
30% 50° / \ 2
3 : 10 3 units = 75 litres
cohol in A . 1 unit = 25 litres
ﬁna.l mixture) 20. {c} Acfcordmg tf:) the quesuon 3 units(added) = 3 x 25 = 75 litres
10 litres of mixture-takey out 22. (c} According to the question
uoaﬂzxﬁmﬁmﬁmm 5 ) Equal
Alloy A=>5x,: 3x,= 8x
17. (a} According to the question Ratio will also be 4 ‘41 AlloyB —» 5 2 “2_ 1 6{"]11&11151@ is
‘ (6T 4 zhm Y mixed
Milke : water Alloy A > 10 : 6 = 16
7 @ 23\"9
1 unit Alloy B —» 5 11 = 16
78 15 : 17
. Remember, water is added not 23. (aJAccording to the question
@k, so make milk equal. Here milk T By Alligation-
i already equal (5 T for Wit firemen " Liguid B is poured, there is no Gold Sliver
w%wmﬁlmwaﬂmzﬁ} IR Y, "'\chang'emAma_keAequal (B =3 T i 21
T TH 54 F A TR ) 7, e T, AT ¥ i agera W w5 A 29 58
9 units = 729 " v S =y
1 unit = 81 litres Y . B
: 25
The amount of water added (ffﬁjﬁ 'R’l 4 : 1 87,
TR A -8 Heves, i 2, 3, / \
18. (a) According to the quﬁplﬁnﬁf& P }=5 unit 13 4
Y T-E. o 5 5 _
e Mk e, A 174 5
Initial Ratio 7 _,:*:'. ki (10 litres of liquid)
Final Ratio 35‘ : %}‘ . . 5 unit = 10 litres I 13 : 8 _I
o= : 24. (b) According to the question
" Rememlag r is added, not 1 unft 2 htr:es 4
milk, so make 5 equal (2 & 5 5 units = 10 litres Gold Copper: Tin Total (make
Wﬁmw%&u ¥t 378 9 F But 10 l_ltre‘s. were initialy taken out 22 39 1x2 =6 x Qmaluan{ it
S— @ smiw 7 10 =fer Frmen 1) PR . 9 =12 I ¥
o ‘ . Initial mixture (K% fi9%) = 10 +  Copper : Tin  : Lead Total — 398V
Initial Ratio 21 3)— 24 1_‘ums 10 = 20 Litres 5 . 4 . 8 g2
Final Ratio 21 : 7 -4 units 4 5 s
24units = 40 litres Quantiy (A3} A = = x 20 = 16 litres weight of lead = -5 = = 3 ke

Wizard of Maths - Rakesh Yadav Sir




25. {a) According to the question
S.P. of mixed tea (s =@ = foF
™) = ¥194.40

1 —» Profit
profit = 20% = T—CP
5.P. = 6 units
6 units = 194.40
1 unit = M = 32.4
6
5 units - 5 x 32.4 = ¥162
By Alligation
192 150
/162\
(162-150) 192 - 162
=12 =30
12 30
2 : L]

26. {d) According to the question
When there is no profit no loss, here
(@ T M Tt g i L
CP= 5P
*, Cost price of mixed sugar (fifsm
i % %4 o) = Rs. 16/Kg
Apply Alligation

{16-15} : (20-16)
=1 =4
= Ratlo —1:4

27. (a) According to the question

Milk : Water
one glass 3, S5.a4=

Another glass 6 ,

Final | -
One glass
Anothber glass
Final é

Apply Alligatidfy-

A

/:\

= Ratio 520 :7

Wizard of Maths - Rakesh Yadav Sir

28. |c} By Alligati
() By gation Milk  40litres
= 201itr
Initial Mixture ~ Water Water  Shibres
10% 100%
Milk Water
20.,K 40 litres 20 litres
/ 40 +
80 : 10
8 : ! 1 2><40
lx 5 x Sl 'Ir
40 B0 litre
' .20+ x= 80 ,
29. (b} According to the question x = 60 litres; =“"*‘:;‘
Wi . Wateraddﬁ( THI) = 60 litre.
ine water _
Former 3., ¢ 2, = 3 s 32. 44 ACCM he questlor-;: .
Latter 4uo ! S50 = 9 90 SP of a nu%,tﬁe of Tea (A4 am
Ze H ﬁ!m T#h = Rs. 324
i lag @ 14 <
Final * s " 2 “&.gf a mixture of Tea (W4 % fago
Wine Water 100
54 36 ‘E @“h ) = 324x 1o = Rs, 270
40 120
45 % . Now using Alligation,
Tea-1 Tea-2
320 250
27
Ratio of
Ratio of former angl% (TEs am quantity / Q\
" 5‘9 "f 270-250)=2
~2 = . _
%y 3 (270-250)=20 : (320-270}
or =50
2 : 5
zg.l Ihlt =3 g
33, (¢} According to the question,
3«9 _27 53 Container:-
- aits = 7575 s 1 11 i v
. 3. Ya) According to the question M W MW M W M W
5:3 2:1 3:2 7 : 4
Water ininital mixture Pure water Container (I):-
40% 100%
Milk _35 -1.67
) Water 3
Water in
? final mixture Container (1I):-
Milk __2_=2
50% 10% Water 1
5 1
dx16 x16 Container (III):-
80
{litres) {litres) Milk -§— 1.5
Water 2
31. {d) According to the question, Container (IV):-
Mixture = 60 litres Milke _ 7=1 75
Ratio of ik 2>3 Units Water 4
Water

- The quantity of milk relative to
water minimum in container fIL (i@t

o= ¥ 3w = AR o 9 geen § = @)

3 units — 60 litres

1 unit — 20 litres




34. (b) According to the question,

Mixture = 240 cc
Water
>4 units

Ratio of —V————— Glyoennc
4 units — 240

1 unit — 60

Water

_1x60 _ 60
Glycerine

T3x60 180

Water Glycerine

180
*x60

120
L B0+ x =
x =60 cc
Quantity of water added (e T4 T
F U = 60
(d) According to the question,
Acid Water
SLrllll;:ﬁn 1.=2 1 unit 3,26
increase

120

35.

Same
Final
Solution

Final Selution (ifqm firsyoy

= 3+ 6= 9 units

As we know that only acid is added
s0 water is same initially and
finallly @4 w4 & f5 Saa woe fiemm
T ¥, 9% O 3 AT s ¥ aw i
TR T

We know 5 litres acid is added so.
@ I ¥ R 5 et ofwvs frarn w2,
3Ty

1 unit - 5 litres

9 units - 5 x 9 = 45 litres

1,=3 2,=6

.. Final mixtures (37 firo) = 45 ntﬁs

36. (a) According to the question,
Mixture = 25 litres

Acid
Water
. 5 units » 25 lltr% ﬁ C

lunit - 5 lltrcs

Ratio of

37.

38.

{d) According to the question,

water Milk Total
Vessel-1 3,,=24 4,=32 7,
Vessel-2 5,=35 3,=21 8.,
Final ratio: 59 ; 53

Note:- If two different solution are
mixed then ensure that the quan-
tity of both solution are same,

T~ of% 3 s foe T € A T AE W

= @ 3A T S W s
{b) According to the question,
Acid Water
Vessel A 4 : 3
Vessel B 5 : 3
Now using Alligation,
A B
4 s
7 \ /8
2
/ 5 \
5_3\_1 L_{3 4%
8 5) 40 3B 157 17
_ 35 ' i
Final
Ratio:- | 7 .
(a)

Acid wateg :,_u,n_
VesselA 3 : } . 7
VesselB 5 i, gy,
Use Alliga_utlon :

A% «1’

"“-.".5

v!"")( .
U

X

"

B
2
8

Ratio of =1 : 2

(a} According to the question,
Acid Water

Vessel-A S : 2

Vessel-B 8 : 5

Now using Alllgatlon

Ratio of —a[7
quarntity

41.

Ratio of
quantity _.|

42,

%’gl Mixture-1 ratio of

43,
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® Water

l

{a) According to the question,

Acid Water
Vessel A 4 : 3
Vessel B 2 : 3
Now using Alligation,

N
N
g al -

10
|

A
2
7

_)

() ,Acd)rdlng to the question,
Mlxtutt -1 = 20 litres
‘ Mmture ~2 = 36 litres

Spirit

= ,—7—>10 units
In Mixture-2 ratio of

= L :
Water 5> 12 units

10 units—=>»20 litres
1 unit .y 2 litres

12 units—»36 litres
1 unit .3 litres

1 lSpu‘lt 32 6
n Mixture -1 3 = 72 = 14
M Spirit  7x3 21
- In Mixture -2 5 “5<3 ~ 15

Ratio of spirit and water (forz qen gt
F S

_6b+21 27 o7 : 3
“Ta+15™ 29 T 27 29
ia) Acid Water
Vessel A 2 : 3
Vessel B 4 : 3

Now using Alligation,

A B
2 4
5 7

: 14
Ratio of
quantity=[S___+ 7]




44. (a) According to the question, 48, {d) According to the question, Initially solution was (3RPTH s
Alcohol Water Milk Water = 27 + 9 = 36 litres.
Vessel A 5 : 3 Vessel A 8 : 5 . o aimris
Vessel B 5  : 4 Vessl B 5 @ 2 Quantity of liguid A initally (S ™
Now using Alligation, 7
3 ‘Al qlﬂ" = — = i
A B New mixture containing 69*1-5% TR AR 12x36 21 litres
5 5 000 0 52. (b} According ;ﬁnihe questig}'l,
8 9 s _ 2. i ater
\ / milk ie. = 7377954 < 13 mitk Vessel-1—» 3 : 2
7 -, Now using Alligation, Vessel-2—» 7 : 3
12 A B Now using Alligation,
/’ '\ 8 5 Vessel-1 Vessel-2
13 7
7_5\. L L.fS 7
12 9 ) 36 24 (8 12 9
24 36 BE
Ratio of
quantity —{2___ 3] / 3\
45, (c) According to the question, 2 1
water Symp Total Final 91 13
Initial 3y *+ 5~ =8 Ratio:- | 2 : 7] % :
23'&"3’1 Same 49, (c} According to the question, . ,; %,
; _ chromium Steel g . ‘--*d];’!ccording to the question,
Final 1,~ 5 + 1.5 =10 Type - 1 2 ST 4 & of the Mixture (AT F1 ¥4 69
Water add in final [\ﬁﬁrq fqﬂ""l ﬁ’ ‘Tﬁ‘T ,.[\ype -0 5 . 21 .ll.é!‘ ! .x\-_..‘:= 15x20 + 25x20 = Rs. 935
) Now using Alligation, A SP of the Mixture (fasm 1 faha 79
2 1 A = 27 x 40 = Rs. 1080
T 9 Profit = SP -~ CP
: . — Profit = 1080 - 935 = Rs. 145
46. Al ding to th tion, N .
(a} Accor ngMi:,k ¢ ques \:\?:ter 13 . (d) According to the question,
Vessel A 4 : 3 ¢
Vessel B 2 . 3 ;_h 3 Acid Water Total
Now using Alligation, A - Sample— 1 2x40=80 11 x40"40 3 x40
A B A H e
4 2 e 1 _f7 2\ Sample-2 3x24=72 :2 x24748 5x24 120
7 5 SB 39 139 13
\ . Sample- 3 5x15=75 13 x15745 8x15
1
1 2 Ratio of [ 227 7 130]
. i
/ \ -_cc%ﬁing to the question, quantity
B Copper  Total Required ratio { $1¥I% 3F[T4)
1 2\__1 1 _fa 1
(5_?),76 a2 5) s - 133 : 227
“i& &\ 7214 1 2, =4 9,=18 55, (b} According to the question,
14 . 10 %‘m@ﬁ i Copper Tin
Final % T B> .11 18— Same First alloy — 1 03
Ratio:- | 7 : 5| “%}aﬁatw of  — —_— Second alloy—»> 2 : 5
47. (¢} According to the question{ quantity =21 . Mix alloy = 3 : 8
Initial quantity (ST 4 ke or Now using Alligation,
As we know that, . . %%
Final quantity "(3fa8 %ﬂﬂ;ﬁnitiaj - alloy-1 alloy-2
e A . 51. (c) According te the question, 1 2
quantity (1— goturpe .°“t] A B Total 4 7 :
Initial = 7 5 =12
Where nds r of times volume 4 units 3
taken out (AN e ¥ i fasor § same > add 11
foperlt e rasroh e Forren T #) Final —'7 9 - 16 / \
Final quantity (STa% W) 4 units — 9 litres
3 2_3\__1 _L_f3 _
6 9 9.9 . 2 . 7 A1) 77 3 {17
= 60]1-—| = 60x oo X=X —— 1 unit— litres
60 10 10 10 4 Rati
. atio of
Final quantity of milk G4 #1 3if®1 7eg quanityafg . 7]

= 43.74 kg.

9
12 units — le‘z = 27 litres
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56. (d) According to the question, 1 1 1 63. {a} According to the Questions
A W = ~3- 105 + 3" 70 + 7x 35 = 75 By using Alligation method.
Initially .54 3 Gold-1 Gold 2
Same 2 units % of water = EXIOO = 24% 12\ 16
Finally .»4 5 59. (a) According to the question /
2 units > 3 litres By using Alligation method 15
5 15% 40% / \
1 unit — = litres
< (16-15) =1 (15-12)=23
5 30% Ratio of [ ; 3
4 units -» 5*4 = 10 litres Quantity -
. . 64. (¢} According to the Questions
= IOQumlitrIE;y of Aloohol (SFeTeet 1 ) {40-30}= 10 (30-15) = i5 Sugar Solution (S} 1 e - 300ke.
; ; Ratio 2 : 3
57. {b) According to the question,
;&‘ll!.xtures fg 15 ﬁtrgs 60. (a) According to the question 40% Si.l.g‘eu:,t %X 300 = 120kg.
Alcohol ) CP of the mixture (3501 F1 4 = io
coho ugar
Ratio of ——— = —= 5 units =30 x 9.5+ 40 x 85 &
Water 32 = 285 + 340 = Rs. 625 120
. 5 units — 15 litres S.P of the mixture (fagm w1 faa 77y +
1 unit — 3 litres = 8.90 x 70
Aoohol 13 3 = Rs. 623 =]
Lcone? | == loss (¥1f1) = C.P - S.P 1
Water 312 loss = 625 - 623 = Rs. 2 x 180
Alcohol  Water 61. (a) According to the question. ¢ 180
Initially—> 3 12 S P4%fpthpir$ctuw {fasor = ﬁ%‘ﬁ‘ ‘1@“‘*‘ Let the sugar added = x kg,
+ N Ve, .. 120 + x = 180kg,
_ 3 CPofthemlxture[ﬁﬁWﬂ?lﬂﬂm x = 60 ke,
Final ~» 3 15 65. (d) 729
». Percentage of alcohol in new mix-
ture (7 ot F srwize 1 wfawm) milk water
3 2
=Ex100 = 165% 7 : 2 —9units = 729
§8. (d} Capacities of Vessels (Tral & & 567 16 lunit =81
AN =3:2:1 M:W
Milk : Water  Total Mixture iy s, Initial > 7 : 2
V-1 5 (5:2 = 7). >r132‘~2 ; (42-32) = 10 After ’ )
V-2 — @:1 = 5),, f{ Ranoog,? addin 1 unit
V-3 o> {4:1 - 5)., 4 5 &
. . 5 uflits = 25 kg water 7 . 3
Equate the Mixture [fRsm = w9 % ol und o 5k | ‘
Milk : WaterTotal Mixture % t= g always milk will be same (39 FHW
V-l > (25: 10 = 35 A% \4umts=> 5 x4 =20 kg WA
V-2 5 (28:7 = 35%%; - Salt at;l; P per kg was (42 ¥ 36 i. e. 1 unit of water will be
V3 5 (28:7 = 35 | 1. T AN < 20 kg added(THt T T v faené )= 1
Capacities M:W = Total Mix. - (b) Let the Price of Water (F1 % Wt =1 unit = 81 mililitre
(V-1)x3 > 75:30 =105 . T = RS. 0 .
(V-2)x2 > 56 :14 = ‘?ﬁ F M According to the solution. 66. (d} Milk Water =
V-3)x1 - 28:7 = 35 g i © CP of Pure Milk ({{& 3¥ &1 %9 To9) 1* {5 : 2 = 7)x5x3
Water taken out (ﬁmafqm"ﬁ] = Rs. 1.80 2% (4 :o = 5)x7x2
C.P of the Mixture (fRsm %1 %3 7&) 3 (4 : 1 = 5)x7x]
o 1 of wal = RS. 0.90 . .
3 Nolei.;iing Auig;t;ct:; method. ox, 75 0% (56: 14y (28 7)"%
water in 1.80 - (1] or, 95 10
V-3 P ,90\ 28 : 7
LIV Y P IV I S {0.90-0) (1.8-0.9) ? !
3 2 7 =0.90 = 0.90 57 18 =75
= 10+7+1=18 L % of water in mixture
Similarly mixture will be (Rft YR  Ratioof _[*16 ©1x16 16 litre (Given) 18 .
Fasmr gm quantityfi 6 Litres | =%X100=24/0
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67. i) Alloy A Alioy B
60 kg 100 kg
3 : 2 1 4
36 kg 24 kg 20kg 80 kg
{Lead) {Tin}  {Tin}  (Copper)

Total \/

Tin 24 + 20 =44 kg
68. (c} Let Frst blend is 2 kg and
second blend is 3 kg.
total cost price = (35x2)+(40x3J)

= 70+120= 190 Rs.
Total selling price = (1 % 46} + (4 *

55) = 266 [ of Skg=1 kg]

Total profit

100
Toal C.P

Profit percent =

= [266_190'><100

190
:>7—6x100 40%
190
69. (b
Acid :Water Mixture
Gl 1 2 : 3 = 5
ass [ ] ‘63
Glass 2 [3 : 4 = 7]x45
Glass 3 [4 : 5 0= 9]x3
Glass 1 126 189 = 315
Glass 2 135
Glass 3 140 125 % 35
+ +e %, :
401%‘5 : 4 @}'
! B
70. (d) Acco t‘b 'Q:ne question
SP of the e’= Rs. 320
Gain = 20%\}/
L 100
- C.P of the mixture = 320 x 55
00
-re 57

Now using allegation method.
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x = Replaced Quantity
= Capacity
T = number of process
Final Quantity 112 :
Initial Quantity - 60

3 -5
“\5) " 25

Tea-1
180

Tea-2

S
N\

\/

280 89043 208 _,50.280
Ratio of milk and water in the re-
Ratio of —» 40 260 sultant mixture (oW fasm # 3N
Quantity 2 : 13 iR rlt o ST )
= 1 9
71. (¢} According to the question, 16
Mixture of copper and aluminium
= 2000 gm 74. (a) Istwe
30
30 % is copper means = EXQOOO

= 600 gm copper
600 _ 20%

1400+ x 80%

1400 + x = 2400

x = 1000 gms

Alternate:-
copper Aluminium
30 : 70 e
20 : 80 1 1
copper Aluminium Petrol : kerosene = & @ 17
3:7'_’_1233‘?20 Yy =14:8=7:4
i ‘f“: = }f‘s" - % & 75. (d) According to the question.
we have to equal; Copper amount (FEwTER),
because . only- 'Aﬁ‘i’mlmum is A B
added (T R, 4o Gt T A

7+ 5N\ =12
@ﬁﬁwmil) }4units

Alummtum Fingl =—» 7 + 9 =16
7 Solution

)+5mit 4 Units —» 9
12 . 9
1Unit —» —

%3 1 unit = 200 gm 4

%\: 5 unit = 00x5=1000gm
B2. bix:¥y
;‘Quantnty 3:2 5 5 units

According to Question
S.P of 1 unit = Ra.11

9
16 units = zx 16 = 36

The capacity of the can = 36

SP of 5 unit = Rs. 55 litres (7 F1 amm e H)
C.P of 1 unit is = 10 76 )
then CP of S units = Rs. 50 - e .
Let Spirit Milk Total Capacity
¥'s cost = z Rs. Ratio
X's cost = 2z + 2 Rs,
C.P = Quantity x Cost I 4 + 1 = 5 2
S0=3(z+2)+ 2z IIr 11 + 4 = 15 3
W=t m 7 + 3 = 10 4
Cost of X = 8.80 + 2 = 10.80 Rs. Spl_“t Milk  Total
3. (&) total milk = 60 litres ! 4x12_48 1-:12’12 5x6x2
drawn off = 12 litres 11 1,=66 4, =24 15,.,
. m 7,..,=84 3 =36 10
: ti ¥ %12 12 *3x4
Final Quantity =[1 5] Total Ratio 198 : 72
Initial Quantity c 11 : 4




1
77. (a) 5\ /8 No. of gives = x 12500 = 6250
6
VAN 79. (b)
2 1 3 Litter 3+1 &
78. (d} B a. . N\ 0
50%\ /’?0 Yo T 60% W [40%)
60% 3><':13 _9
N\ 5 5
10 : 10 ] 9
1 : 1 4Eﬁom1xﬁiﬂﬁa?l%=5x4x
=2 100 = 45%

0. (b)Qty x Price = Total cost

10 x§ =80
15%x10=150
TotalCost
Average Price = m

_ 80+150 230
© 10+15 25

=92 kg
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